tab. 1

s @

iniziale
initial
initial
0.45
0.46
0.47
0.48
0.49
0.5
0.51
0.52
0.53
0.54
0.55
0.56
0.57
0.58
0.59
0.61
0.62
0.63
0.64
0.65
0.66
0.67
0.68
0.69
0.7
0.7
0.73
0.74
0.75
0.76
0.77
0.78
0.79
0.8
0.81
0.82
0.83
0.84
0.85
0.86
0.87
0.88
0.89
0.9
0.91
0.92
0.93
094
0.95
0.96
0.97
0.98
0.99

09

1500
144
139
138
1295
1.248
1202
1,158
1116
1074
1034
0.995
0957
0920
0884
0849
0815
0781
0.748
0.716
0,685
0,654
0.624
0594
0565
0536
0.508
0.480
0452
0.425
0.398
0371
0344
0318
0292
0.266
040
0214
0.188
0.162
0.135
0.109
0.082
0055
0.028
0.000

091

1.529
1475
1422
1312
133
1.276
1.1
1187
1144
1103
1.063
1.024
0.986
0.949
0913
0.878
0.843
0.810
0.777
0.745
0.714
0.683
0.652
0.623
0.593
0.565
0.536
0.508
0.481
0453
0.426
0.400
0373
0.347
0320
0.294
0.268
0.242
0.216
0.190
0.164
0.138
0111
0.084
0.057
0.029
0.000

1.559
1.504
1452
1.402
1353
1306
1.261
1217
1174
1133
1.092
1.053
1.015
0.979
0.942

0.873
0.839
0.807
0775
0.743
0.712
0.682
0.652
0.623
0.594
0.566
0.538
0.510
0.483
0.456
0429
0.403
0376
0350
0324
0.298
0.272
0.246
0.220
0.194
0.167
0.141
0.114
0.086
0.058
0.030
0.000

cos @' da raggiungere / cos ¢'to reach / cos ¢'a réaliser

094 0.96

0.93

1.589
1535
1483
1432
1.384
1337
1291
1.247
1.205
1.163
1123
1.084
1.046
1.009
0973
0.938
0.904
0.870
0.837
0.805
0.774
0.743
0.713
0.683
0.654
0.625
0.597
0.569
0.541
0514
0.487
0.460
0433
0.407
0.381
0355
0329
0303
0.277
0.251
0.225
0.198
0.172
0.145
0.117
0.089
0.060
0.031
0.000

1.622 1.656 1.693
1.567 1.602 1.639
1515 1549 1.586
1.465 1499 1.536
1416 1450 1487
1369 1.403 1.440
1324 1358 1.395
1.280 1314 1351
1.237 121 1.308
1.196 1.230 1.267
1.156 1190 1227
1.116 1151 1.188
1.079 1113 1.150
1.042 1.076 1113
1.006 1.040 1077
0.970 1.005 1.042
0.936 0.970 1.007
0.903 0.937 0.974
0.870 0.904 0.941
0.838 0.872 0.909
0.806 0.840 0.877
0.775 0.810 0.847
0.745 0.779 0.816
0.715 0.750 0.787
0.686 0.720 0.757
0.657 0.692 0.729
0.629 0.663 0.700
(OB 0055 i)
0573 0.608 0.645
0.546 0.580 0.617
0.519 0.553 0.590
0.492 0.526 0.563
0.466 0.500 0.537
0.439 0.474 0.511
0413 0.447 0.484
0.387 042 0.458
0.361 0395 0432
0335 0369 0.406
0.309 0343 0.380
0.283 0317 0.354
0.257 0.291 0328
0.230 0.265 0302
0.204 0.238 0.275
0.177 0.211 0.248
0.149 0.184 0221
0.121 0.156 0.193
0.093 0127 0.164
0.063 0.097 0.134
0.032 0.067 0.104
0.000 0.034 0.071
0.000 0.037

0.000

0.97

1.734
1.680
1.627
1577
1528
1.481
1436
1392
1349
1.308
1.268
1229
1191
1154
1118
1.083
1.048
1.015
0.982
0.950
0.919
0.888
0.857
0.828
0.798
0.770
0.741
0.713
0.686
0.658
0.631
0.605
0.578
0.552
0.525
0.499
0473
0.447
0421
0395
0369
0343
0316
0.289
0.262
0.234
0.205
0.175
0.145
0.112
0.078
0.041
0.000

0.98

1.781
1727
1.675
1.625
1576
1529
1.484
1440
1397
1.356
1315
1.276
1.238
1.201
1.165
1130
1.0%
1.062
1.030
0.998
0.966
0.935
0.905
0.875
0.846
0.817
0.789
0.761
0.733
0.706
0.679
0.652
0.626
0.599
0.573
0.547
0521
0495
0.469
0.443
0.417
0390
0.364
0337
0309
0.281
0.253
0.223
0.192
0.160
0.126
0.089
0.048
0.000

0.99

1.842
1.788
1.736
1.685
1.637
1.590
1544
1.500
1.458
1.416
1376
1337
1.299
1.262
1.226
1191
1157
1123
1.090
1.058
1.027
0.99%
0.966
0.936
0.907
0.878
0.849
0.821
0.794
0.766
0.739
0.713
0.686
0.660
0.634
0.608
0.581
0.556
0.530
0.503
0477
0451
0.424
0397
0370
0342
0313
0.284
0.253
0.220
0.186
0.149
0.108
0.061
0.000

1

1.985
1.930
1.878
1.828
1779
1732
1.687
1.643
1.600
1.559
1.518
1479
1441
1405
1.368
1333
1299
1.265
1.233
1201
1.169
1138
1.108
1.078
1.049
1.020
0.992
0.964
0.936
0.909
0.882
0.855
0.829
0.802
0.776
0.750
0.724
0.698
0.672
0.646
0.620
0.593
0.567
0.540
0512
0.484
0.456
0.426
0395
0363
0329
0.292
0.251
0.203
0.142
0.000

Table 1 gives the values of the coefficient K" with
which it is possible to obtain the reactive power
QC, knowing the active power of the load and the
installation’s cosg with no power factor correction
and choosing the cosg'you want to obtain.
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